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Concept Application Concept Application Level 1

1. Which of the following is not a physical change?

A. Dissolution of oxygen in water.

B. Dissolution of carbon dioxide in water.

C. Dissolution of alcohol in water

D. Dissolution of salt in water.



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_q6F2XIQVCj8l

L % VIEW I1CXL S0I1Ution )

2. Which of the following double displacement reactions is correct?

AAB+CD — AC+ BD

B.AB+ CD — AD + BC

CAB+CD —- CA+ BD

D.AB+CD — AD + CB

Answer: C::D

o View Text Solution

3. The formula of th ephosphate of an element R is RPQOy, then the

formulae of its hydroxide and sulphide respectively are are

A R(OH)3 and RgSz

B. R(OH)2 and RQSg
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C. R(OH)2 and R35’2

D. R(OH)3 and RgSg

Answer: C::D

° Watch Video Solution

4.The molecular weight of a compound which contains a total number of

five radicals is 160, then it is

A C’a,3P2

B. F€203

C. Al,O4

D. Mg3N2

Answer: B::C

° Watch Video Solution
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5. Removal of CO; and HyO from atmospheric air using KOH and

anhydrous CaCl, is an example of and changes repectively.

A. chemical, chemical

B. physical, physical

C. chemical, physical

D. physical, chemical

Answer: C

o Watch Video Solution

6. Which of the following reactions is a synthesis reaction?

A.When steam is passed over red hot coke, a mixture of carbon

monoxide and hydrogen 15 fomed .

B. Sodium reacts with water co form sodium hydroxide and hydrogen .
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C. When the milk of lime (calcium hydroxide) is added to hot sodium

carbonate solution, sodium hydroxide is obtained and calcium

carbonate separates out as mud.

D. Stannic chloride is perpared by passing chlorine into molten tin.

Answer: C::D

o View Text Solution

7. Pb(N03)2 + F62(504)3 — FG(NO3)3 + PbSO4
Coefficients of lead sulphate and ferric nitrate in the balanced equation
of above reaction are

A. .34

B. 3,3

C.3,2

D.23
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Answer: C

° Watch Video Solution

8. The names of the salts formed by the reaction of

(i) Caand HNO;

Ca and Hy505 are

A. (i) Calcium nitrate (ii) Calium sulphate

B. (i) Calcium nitrite (ii) Calcium sulphite

C. (i) Calcium nitrate (ii) Calcium sulphate

D. (i) Calcium nitrate (ii) Calcium sulphate

Answer: C

° Watch Video Solution

9.The valency of nitride ion is same as the valency of
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A. Ferric

B. plumbic

C. zinc

D. calcium

Answer: A

o Watch Video Solution

10. Removal of COy and H50O from atmospheric air using KOH and

anhydrous CaCl, is an example of and changes repectively.

A. chcmical, chemical

B. physical, physical

C. chemical, physical

D. physical, chemical

Answer: C
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| o Watch Video Solution

11. Reaction between barium chloride and aluminium sulphate is an

example of

A. neutralisation reaction

B. displacement reaction

C. precipitation reaction.

D. combination reaction.

Answer: C

o Watch Video Solution

12. Which among the following salts produces maximum number of metal

ions per molecule when dissolved in a suitable solvent?

A. Aluminium phosphate ATPO,
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B. Magnesium phosphate Mg(PO,),
C. Sodium biphosphate nas HPOy

D. Aluminium dihydrogen phosphate Al(HyPOy)

Answer: B

o Watch Video Solution

13. A series of chemical reactions were carried out in a laboratory in the
following way. At first zinc granules reacted withH, S0, to form H, gas.
Then hydrogen gas reacted with chlorine gas under diffused sunlight to
form hydrogen chloride gas. Hydrogen chloride gas produced in this
process was dissolved in water to form hydrochloric acid. Hydrochloric
acid reacted with sodium hydroxide to form soruum chloride and water.
Sodium chloride thus produced is first melted and then electricity is
passed through it. Due to the passage of electricity through sodium
chloride, sodium nietal and chlorine gas is obtained.

Rahul was asked to arr:mge the above reactions in the order of
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combination, decomposition, displacement and double decomposition.
His answer is given below.

(a) Formation of H, gas.

(b) Formation of hydrogen chloride gas.

(c) Formation of sodium and chlorine from sodium chloride.

(d) Fomation of sodium chloride.

Which among the following orders given below is correct, according to

you?

A.cdba
B.bcad
C.abcd

D.bcda

Answer: B

o View Text Solution
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14. Arrange the following reactions in the given order, i.e., compound-
element combination, compound-compound combination and element-
element combination.

(1) Coke is burnt in an inadequate supply of air.

(2) The product formed in the reaction (1) is again burnt in the presence
of oxygen.

(3) The product formed in the reaction (2) is treated with water.

A.achb

B.bca

C.bac

D.cab

Answer: B

o Watch Video Solution

Concept Application Concept Application Level 2
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1. An oxide X of carbon on treatment with oxygen gives Y which turns lime
water milky and blue litmus to red. Predict the valencies of carbon in X

and Y and what is the composition of milky precipitate formed?

o Watch Video Solution

2. One molecule of a binary acid contains two hydrogen atoms and a
negative radical X. What will be the formula of the salts when it reacts

with bases, like, M(OH), M(OH), and M(OH),? Explain with reasons.

o Watch Video Solution

3. The formula of hydrogen phosphate of a metal M is M HPQj,. Give the
formula of its

(a) chloride
(b) bicarbonate

(c) sulphite

| o Watch Video Solution
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4. Write the balanced chemical equation for the following.

(i) Potassium bromide on treatment with mangances dioxide and
sulohuric acid gives manganese and potassium sulphates, bromine and
water.

(ii) In the preparation of phosphate fertilizes, calcium phosphate in
phosphate rock is converted into phosphoric acid and calcium sulphate.
(iii) Sodium nitrite is prodced by the reaction of the oxides of nitrogen in

which nitrogen shows valency 2 and 4 in a solution of sodium carbonate.

o View Text Solution

5.Nitrogen and oxygen react to produce nitric oxide. What is the weight

of oxygen required to convert 4.9 g of nitrogen to nitric oxide ?

o Watch Video Solution
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6. The salt of an oxtacid of metal M contains two sulphur and six oxygen
atoms. What will be the formula of the base formed by the metal and

why?

o View Text Solution

7.The molecular weight of a salt of oxy acid of chlorine of a dicalent metal
which contains more number of oxygen atoms than its corresponding '-ic'
acid is 239. What will the molecular weights of its (i) phosphate (ii) iodide

(iii) bisulphatebe?

o View Text Solution

8. Given below are three chemical equations. Study the equations and
identufy the elements that show variable valency? Given reasons in
support of your answer. ('M' and 'N' stand for different metals.)

(i) Ms + ZnSO4 — MSO4 + ZnS
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(i) 3MCly + N3(S04); — 3MSO, + 2NCls

o View Text Solution

9. Blue coloured CuSO, is taken in two test tubes A and B. Zinc granules
are added to test tube A and small iron piecces are added to test tube B.

Explain the observations in each acse by giving reasons.

o Watch Video Solution

10. How do you account for the following ?

(1) Nitric acid is colourless but on long standing it turns yellow.

o View Text Solution

1. In the welding of railway tracks, a proper proportion of aluminium

powder and iron (iii) oxide are made to react with each other at high


https://dl.doubtnut.com/l/_ULtEGGDmJ6Z7
https://dl.doubtnut.com/l/_L8PgUehX6c00
https://dl.doubtnut.com/l/_fAROVby9sTxT
https://dl.doubtnut.com/l/_m2efFhW6l93X

temperature. Explain the type of reaction involved and also identify the

reducing and the oxidizing agents.

o Watch Video Solution

12. The valency of a metal is 2 and its atomic weight is 24. What will be the
molecular weight of its

(a) sulphite (b) chloride (c) chloride?

o Watch Video Solution

13. While balancing a chemical equation, only the coefficients of the

formulae arc changed, but the subscnpts are not changed. Give reasons

o View Text Solution

14. The chemical X is a hydroxide of a djvalent metal. On treating this

hydroxide with CO, a milky white precipitate of Y is formed. The
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precipitate turns to colourless solution by the excess passage of CO,
This colourless solution again gives milky white precipitate 'Y' on heating.

Identify X and Y and also give -necessary equations.

o View Text Solution

15. A hydrocarbon on complete combustion produces 176 g of carbon
dioxide and 90 g of water. What will x the formula of hydrocarbon be and

also give balanced chemical equation of combustion of hydrocarbon?

o View Text Solution

16. Heating and subsequent cooling of certain substances are given
below. Classify them into either physical or chelnical change.

(a) Lead nitrate.

(b) Uluish green copper carbonate

(c) Yellow coloured Jead oxide

(d) White powdered zinc oxide

.Y l
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17. Arrange the following radicals in the increasing order of total number
of constituent atoms present in the respective radicals.
(@) hydroxide (b) nitride (c) chromate (d) sulphite (e ) dihydrogen

phosphate

o Watch Video Solution

18. Two beakers A and B contain water. Glucose is added to beaker A and
ammonia gas is passed through beaker B. What types of changes

(physical or chemical) take place in the beakers? Justify.

o Watch Video Solution

19. Oxide of a metal on treatment with water produces hissing sound and
energy.The product (Y) formed on treatment with hydrochloric acid gives

a solid 'X'. Identify the oxide, the product (Y) and X . Also write all the
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balanced chemical equations and calculate molecular masses of the

oxide, the product (Y) and X..

o View Text Solution

20. A nonmetal X forms two oxides, A and B. The ratio of weight of the
element X to the weight of oxygen in A and Bis 7 : 20 and 7 : 16

respectively. If the molecular mass of the oxide, A is 1 08, identify A and B.

o View Text Solution

21. Electrolysis of molten sodium chloride produces sodium and chlorine.

Is this reaction a red.ox reaction? Give reasons in support of your ans\:ver.

o View Text Solution

22. Two oxides of a metal contain 25.8% and 41.02% of oxygen by weight,

respectively. Find the ratio of weights of metal combining with fixed
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weight of oxygen?

o Watch Video Solution

23. Express the following chemical changes in the form of chemical
equations and identify what types of chemical reactions they are.

(a) A copper coin is placed in a solution of corrosive sublimate, mercuric
chloride. The products obtained are cupric chloride and mercury. (b) A
piece of (a) sulphur, (b) charcoal burns vigorously when dropped jn
molten potassium nitrate, because potassium nitrate decomposes to
form potassimn uitrite and oxygen and this oxygen helps to burn
charcoal and sulphur giving out carbon dioxide and sulphurdioxide
respectively.

(c) Aqueous anmonium hydroxide solution is made to react with aqueous
copper sulphate solution and a bluish white precipitate of cupric

hydroxide and ammonium sulphate are formed.

o Watch Video Solution
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24. (a) Decomposition reactions are always initiated with the supply of
energy. Give appropriate reasons.

(b) Generally burning or combustion reactions are exothermic Justify.

° View Text Solution

25. In the welding of railvvay tracks, a proper proportion of aluminium
powder and iron (Ill) oxide arc made to react with each other at high
temperature. Explain the type of reaction involved and also identify the

reducing and the oxidizing agents.

° View Text Solution

Concept Application Concept Application Level 3

1. What is the role of ultraviolet rays ip the purification of water in

modern water purifiers?

o View Text Solution
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2. Under which condition does Bunsen burner produce a luminous flame

and a non-luminous Harne? Give reasons in support of your answer.

o View Text Solution

3. Anhydride of an acid X contains 2 phosphorous atoms, 5 oxygen atoms.
If this acid X is made to react with bases like sodium hydroxide, calciurn
hydroxide and aluminum hydroxide, what will the formulae of the

corresponding normal salts formed be?

o View Text Solution

4. A compound 'X ' of silver on treatment with barium chloride gives the
respective products Y and Z . X on treatment with sodium hydroxide gives
A and B where A can also be obtained when silver is attacked by ozone
and Bis the salt of an oxy acid of nitrogen which ends with the suffix -ate'.

Identify and give the chemical formulae of the substances XY, Z, A and B?
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o View Text Solution

5. The salt of hypohalous acid is prepared from the respective
components namely halogen and the corresponding metallic hydroxide.
The metal is the one which possesses the number of ckctrons in the ratio
of 1: 4 : 4 :1 which corresponds to namely K, L, M, N shells respectively
and the halogen is a greenish-yellow colour gas which can displace
bromine from magnesium bromide. Identify the salt and the respective

components.

o View Text Solution

6. The molecular masses of sulphate and hydroxide of a metal M are 142

and 40 respectively. Calculate atomic mass and valency of the metal.

o Watch Video Solution
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7. What are the changes observed when moist sugar is treated with

anhydrous calciurn chloride and concentrated H,SO, respectively?

° View Text Solution

8. Identify the type of chemical change that silver chloride undergoes in

photo grey lenses.

° Watch Video Solution

9. Blue coloured gas X having a characteristic fishy odour, can restore the
colour of lead parntmgs. Thi.s gas X can also be used for sterilizing water.

identify the gas X. Mention the type of reaction(s) involved.

° Watch Video Solution
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10. Fluorine is very reactive and attacks all metals but still a copper vessel

is used in the preparation of fluorine gas. Why?

° View Text Solution

1. Calculate the total positive charge present on the positive radicals in

the following compounds:

Calcium phosphide

° Watch Video Solution

2. Calculate the total positive charge present on the positive radicals in
the following compounds:

Magnesium nitrate

° Watch Video Solution
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3. Calculate the total positive charge present on the positive radicals in
the following compounds:

Zinc sulphide

° Watch Video Solution

4. Calculate the total positive charge present on the positive radicals in
the following compounds:

Sodium zincate

° Watch Video Solution

5. An oxyacid contains three hydrogen atoms, one phosphorus atom and
four oxygen atoms.

Name the acid.

° Watch Video Solution
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6. An oxyacid contains three hydrogen atoms, one phosphorus atom and
four oxygen atoms.
Name the different salts that can be formed by the acid on reaction with

sodium hydroxide.

o Watch Video Solution

7. An oxyacid contains three hydrogen atoms, one phosphorus atom and
four oxygen atoms.
Calculate the molecular masses of the salts that can be formed on

reaction with NaOH

o Watch Video Solution

8. The valency of a metal 'M' is 2 and its atomic weight is 24. Calculate the
molecular masses of its

sulphite

| ° Wiak~h \tAAaA CAlLLikiAan
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9. The valency of a metal 'M' is 2 and its atomic weight is 24. Calculate the
molecular masses of its

chloride

° Watch Video Solution

10. The valency of a metal 'M' is 2 and its atomic weight is 24. Calculate
the molecular masses of its

chlorate

° Watch Video Solution

11.In an acid-base neutralization reaction, the salt produced contains one
metal atom (M), two nitrogen atoms and four oxygen atoms. Give the

formulae of the acid and the base.

° View Text Solution
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12. A molecule of a binary salt contains two metal atoms and one sulphur
atom. Determine the number of metal atoms present in one molecule of
the binary salt formed by that metal and nitrogen? Give reasons in

support of your answer.

° Watch Video Solution

13. Two oxides of a metal contain 25.8% and 41.02% of oxygen by weight,
respectively. Find the ratio of weights of metal combining with fixed

weight of oxygen?

° Watch Video Solution

14. The following reactions identify the products formed and balance the

reaction.

BaCl2 + Na25'04 —

° Watch Video Solution
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15. The following reactions identify the products formed and balance the
reaction.

° Watch Video Solution

16. The following reactions identify the products formed and balance the
reaction.

NCL—{—H2O —

° Watch Video Solution

17. The following reactions identify the products formed and balance the
reaction.

° Watch Video Solution
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18. Nitric acid turns yellow on long standing. Explain

° Watch Video Solution

19. Silverware tarnishes on exposure to polluted atmosphere. Give reason.

° Watch Video Solution

20. The complete combustion of a hydrocarbon gives CO, and H,O. In
the balanced chemical equation, the coefficients of COy and H,O are 3

and 4, respectively. Find out the formula of the hydrocarbon.

° Watch Video Solution

21. In the welding of railway tracks, a proper proportion of aluminium

powder and iron (lll) oxide is made to react with each other at high
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temperature. Explain the type of reaction involved and also identify the

reducing and the oxidizing agents.

° View Text Solution

22. Mercury loses its lusture and sticks to the walls of the glass in the
presence of ozone. Write the reasons and the possible reaction for this

change.

° Watch Video Solution

Test Your Concepts Very Short Answer Type Questions

1. Why is the burning of LPG a chemical change?

° Watch Video Solution

2. The formula of ammonium bisulphate is
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° Watch Video Solution

3. Balance the chemical equations:

As + HNO3 — NOy + H3AsO4 + H50

° Watch Video Solution

4. Balance the chemical equations:

Cly + SO, + H,O — H,S804 + HCI

° Watch Video Solution

5. Balance the chemical equations:

Zn + HNO3 — Zn(N03)2 + N02 + HQO

° Watch Video Solution
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6. Balance the chemical equations:

NH3 + B’l°2 — N2 + NH4B’I"

° Watch Video Solution

7.Balance the chemical equations:

KI + H2SO4 + M’I’LOg — KHSO4 + M’I’LSO4 + HzO + I

° Watch Video Solution

8. Balance the chemical equations:

C3H8 + 02 — COZ + HzO

° Watch Video Solution

9. Balance the chemical equations:

002 + HgO — CGH12O6 + 02
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| & Watch Video Solution

10. Balance the chemical equations:

F6304+H2 — F€+H2O

o Watch Video Solution

11. Balance the chemical equations:

o Watch Video Solution

12. Balance the chemical equations:

Pb304—>PbO+02

o Watch Video Solution
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13. Balance the chemical equations:

o Watch Video Solution

14. Balance the chemical equations:

HNO3 + C - 002 =+ HzO + N02

o Watch Video Solution

15. Balance the chemical equations:

Na202 + HQO — NaOH + 02

o Watch Video Solution

16. Balance the chemical equations:

H,S + FeCly — FeCly, + HClL+ S
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| & Watch Video Solution

17. Balance the chemical equations:

NaOH + Cly — NaCl + NaClO3 + H,O

o Watch Video Solution

18. Balance the chemical equations:

K20T207 + HCl — KCl + CT’Cl3 + HzO + Cl2

o Watch Video Solution

19. Balance the chemical equations:

Ca(OH), + NH,Cl — CaCly, + H,O + NHj

o Watch Video Solution
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20. Balance the chemical equations:

F60l3 + SOQ + H20 — FBClz + HCIl + H2504

° Watch Video Solution

21. Balance the chemical equations:

NH3+02 — NO—|—H20

° Watch Video Solution

22.Balance the chemical equations:

F652 + 02 — F€203 + 502

° Watch Video Solution

23. Balance the chemical equations:

Cas(PO,), + SiOy + C — CaSiOs + Py + CO



https://dl.doubtnut.com/l/_BcDkKujKCoWz
https://dl.doubtnut.com/l/_mMltvSBiJzDu
https://dl.doubtnut.com/l/_eoLYp6kPieZP
https://dl.doubtnut.com/l/_xibUVqRXXK4C

| & Watch Video Solution

24.Balance the chemical equations:

KM’I'LO4 + SOg + HgO — K2804 -+ M’I’LSO4 + H2504

o Watch Video Solution

25. Balance the chemical equations:

Sn + HNOg — S’I’L(N03)2 + H2O + NH4N03

o Watch Video Solution

26.Balance the chemical equations:

Alz(SO4)3 + NaOH — Na25'04 + NaAl02 + HzO

o Watch Video Solution



https://dl.doubtnut.com/l/_xibUVqRXXK4C
https://dl.doubtnut.com/l/_MrRZImIbNVeX
https://dl.doubtnut.com/l/_FLPihV6uSS8A
https://dl.doubtnut.com/l/_dI54mna0uvB8

27. Balance the chemical equations:

Al403 + HzO — Al(OH)3 + CH4

° Watch Video Solution

28.Balance the chemical equations:

HI—l— HI03 — I2 + HzO

° Watch Video Solution

29. Balance the chemical equations:

CCL3P2 + HgO — C(I(OH)2 + PH3

° Watch Video Solution

30. Balance the chemical equations:

S+ HNO; — H,S80, + NO, + H,0



https://dl.doubtnut.com/l/_FaT2o4zis1vi
https://dl.doubtnut.com/l/_FgOGk8WriJsQ
https://dl.doubtnut.com/l/_EwfEfDUwCtJS
https://dl.doubtnut.com/l/_SBHyBHyMDsEX

| & Watch Video Solution I

31. Balance the chemical equations:

Iz + HN03 — HI03 + NOz + H20

o Watch Video Solution

32.Balance the chemical equations:

Na2502 -+ KM’I’LO4 -+ H2504 — Na2504 + MTLSO4 + KQSO4 + HgO +

o Watch Video Solution

33.Plumbous ion is represented as

o Watch Video Solution



https://dl.doubtnut.com/l/_SBHyBHyMDsEX
https://dl.doubtnut.com/l/_lqupsGYTgF9V
https://dl.doubtnut.com/l/_xZ7n7UToaov9
https://dl.doubtnut.com/l/_x8ZpBmLx9l4d

34. What is the difference between photochemical and thermochemical

reactions?

° Watch Video Solution

35.What is an inhibitor? What is the inhibitor used in the preparation of

H,504?

° Watch Video Solution

36. In the following table, some compounds are listed. In each case

indentify the positive and negative radicals presents in the compound


https://dl.doubtnut.com/l/_zdmsjGmzZBLN
https://dl.doubtnut.com/l/_0s4aeLCLGmwz
https://dl.doubtnut.com/l/_RYx24JKC1zbM

Negahve

Compounds Posihve
radicals
(i) SiO,
() CuS

(m) Hy;O,

(v) BaO,

() MgS
(vi) NaAlO,
(vii) MnO,
(vin) LiH

(ix) KMnO,
(x) CaSiO,
(x1) CaF,
(xii) HOCI
(xiti) Ca(OCl);
(xvi) HpSOy
(xv) KH-,PO,
(xvi) K,HPO,
(xvit) HoS
(xviii) H,S50;
(xix) Mn(ClOy),
(xx) Ba(OH),

radicals

o Watch Video Solution

37. The compound SF6 is named as



https://dl.doubtnut.com/l/_RYx24JKC1zbM
https://dl.doubtnut.com/l/_bBzg7wwUpDAA

° Watch Video Solution

38. For each of the following reactions identify the products formed and
balance the reaction .

NaCl+ AgNO5; —

° Watch Video Solution

39. For each of the following reactions identify the products formed and
balance the reaction .

KOH + H,S0, —

° Watch Video Solution

40. For each of the following reactions identify the products formed and

balance the reaction .

H,CO; 25

l ﬂ Watch Video Solution ]


https://dl.doubtnut.com/l/_bBzg7wwUpDAA
https://dl.doubtnut.com/l/_HRAM7ZS7hK2V
https://dl.doubtnut.com/l/_4jWrKrDNBIwc
https://dl.doubtnut.com/l/_Et3DfDuBGH0G

41. For each of the following reactions identify the products formed and
balance the reaction .

KNO;3 + Hy, SO, —

° Watch Video Solution

42. For each of the following reactions identify the products formed and
balance the reaction .

A
HgO —

° Watch Video Solution

43. For each of the following reactions identify the products formed and
balance the reaction .

CyHyp + Oy —

° Watch Video Solution



https://dl.doubtnut.com/l/_Et3DfDuBGH0G
https://dl.doubtnut.com/l/_gHIvHGCedPxx
https://dl.doubtnut.com/l/_g8LKAYVOjqGA
https://dl.doubtnut.com/l/_mSW1W2CVmQKL

44, For each of the following reactions identify the products formed and
balance the reaction .

Nay,CO;3 + HCl —

° Watch Video Solution

45. For each of the following reactions identify the products formed and
balance the reaction .

Zn + HCl —

° Watch Video Solution

46. For each of the following reactions identify the products formed and
balance the reaction .

C(I(OH)2 -+ HQCO3 —

° Watch Video Solution



https://dl.doubtnut.com/l/_mSW1W2CVmQKL
https://dl.doubtnut.com/l/_GQJAJLWSPYOv
https://dl.doubtnut.com/l/_EKheeE7L3QHC
https://dl.doubtnut.com/l/_MOlRplb7X4Wa

47. For each of the following reactions identify the products formed and
balance the reaction .

° Watch Video Solution

48.The following reactions identify the products formed and balance the
reaction.

BaCl2 + Na2504 —

° Watch Video Solution

49.The following reactions identify the products formed and balance the
reaction.

° Watch Video Solution



https://dl.doubtnut.com/l/_gMrfYHAYFac1
https://dl.doubtnut.com/l/_uCH06FOlj7p6
https://dl.doubtnut.com/l/_l18mNmeI823X
https://dl.doubtnut.com/l/_JJSOqX9vfZ8z

50. For each of the following reactions identify the products formed and
balance the reaction .

PbSO4 + N0,2003 —

° Watch Video Solution

51. The following reactions identify the products formed and balance the
reaction.

NCL—FHzO —

° Watch Video Solution

52. For each of the following reactions identify the products formed and
balance the reaction .

° Watch Video Solution



https://dl.doubtnut.com/l/_JJSOqX9vfZ8z
https://dl.doubtnut.com/l/_PYcRXGPlj0H1
https://dl.doubtnut.com/l/_vQzv0Vxed7u4

53. For each of the following reactions identify the products formed and
balance the reaction .

CaCO; 25

° Watch Video Solution

54. For each of the following reactions identify the products formed and
balance the reaction .

NaBr + Clz —

° Watch Video Solution

55. For each of the following reactions identify the products formed and
balance the reaction .

NaOH + HCI —

° Watch Video Solution



https://dl.doubtnut.com/l/_owONgAJm20bu
https://dl.doubtnut.com/l/_AoC2YkxdIerX
https://dl.doubtnut.com/l/_n5O50M33BrBw
https://dl.doubtnut.com/l/_mk2FrW3qr0Jj

56. For each of the following reactions identify the products formed and
balance the reaction .

F€+Cl2 —

° Watch Video Solution

57. For each of the following reactions identify the products formed and
balance the reaction .

K0l+02 —

° Watch Video Solution

58. Why is a physical change reversible?

° Watch Video Solution

59. What is the difference between synthesis and analysis?

° Watch Video Solution



https://dl.doubtnut.com/l/_mk2FrW3qr0Jj
https://dl.doubtnut.com/l/_YdJeVYQPGVW3
https://dl.doubtnut.com/l/_55OrsLrqSHBg
https://dl.doubtnut.com/l/_hlNFlWBny3Tt

60.The reaction Fe +S — FeS represents

o Watch Video Solution

61. Why is the action of heat on iodine a physical change?

o Watch Video Solution

62. What is meant by oxidation and reduction?

o Watch Video Solution

63. What is the change that takes place when common salt is dissolved in

water?

o Watch Video Solution



https://dl.doubtnut.com/l/_hlNFlWBny3Tt
https://dl.doubtnut.com/l/_P8LMaAXFlpx1
https://dl.doubtnut.com/l/_ja99NJV43STl
https://dl.doubtnut.com/l/_aEzL0myXuTBO
https://dl.doubtnut.com/l/_WjX5GPIy6eSz

64. Stibnum is the Latin name of

o Watch Video Solution

65. Define an exothermic reaction. Give an example.

o Watch Video Solution

66. Ag + CuSO, — Cu + AgSO,

Is this reaction possible ? Explain.

o Watch Video Solution

67. Why do chemical reactions involve loss or gain of energy?

o Watch Video Solution



https://dl.doubtnut.com/l/_rX9UKuxWdDwM
https://dl.doubtnut.com/l/_IufGxkcuJGQx
https://dl.doubtnut.com/l/_8mkhr5Jk477o
https://dl.doubtnut.com/l/_mPlY2woe8ZJY

68. What is meant by oxidation and reduction?

o Watch Video Solution

69. When Fe™2 combines with O~ 2%, the compound obtained is

o Watch Video Solution

70. What is a displacement reaction?

o Watch Video Solution

71. What is chemical decomposition? Give one example.

o Watch Video Solution



https://dl.doubtnut.com/l/_0Aqgnqnt07Iw
https://dl.doubtnut.com/l/_XkJGBd2tmxJu
https://dl.doubtnut.com/l/_XqSjKi45Ogi0
https://dl.doubtnut.com/l/_z4ibwSylU9wF

72. What are catalytic reactions? Give an example.

o Watch Video Solution

73. Define endothermic reaction. Give one example.

o Watch Video Solution

74. N, + 3Hy, — 2NH; + X kcal/mole, then the formation of NH;

involves  of energy with respect to reactants.

o Watch Video Solution

75. The symbols of carbon and cobalt are and

respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_4nnRXKI5VQqk
https://dl.doubtnut.com/l/_EcW8rQ4EZ8Bw
https://dl.doubtnut.com/l/_5z4mKTLzu6HL
https://dl.doubtnut.com/l/_fAVmzbs1ueWC
https://dl.doubtnut.com/l/_smoSi4YkFC7a

76. The symbol S stands for

o Watch Video Solution

Test Your Concepts Short Answer Type Questions

1.Burning of candle is an example of both physical and chemical changes.

Justify your answer.

° Watch Video Solution

2. What is chemical equation? W rite the steps involved in writing a

chernical equation

° Watch Video Solution

3. Write the differences between reduction and oxidation.



https://dl.doubtnut.com/l/_smoSi4YkFC7a
https://dl.doubtnut.com/l/_hFKP82mymgtN
https://dl.doubtnut.com/l/_dyXwSEJOuYPK
https://dl.doubtnut.com/l/_yI0qSoe75BYF

I & Watch Video Solution ]

4.To obtain hydrogen and oxygen from water, what are the conditions to
be maintained?

What are the different names that can be given to this reaction?

° Watch Video Solution

5. Why are the double decomposition rcac:Lions also called double

dispbcement reactions?

° Watch Video Solution

6. Write the steps in naming a binary compound formed by two non-

metallic ekmcnts, except hydrogen, with the help of an example .

° Watch Video Solution



https://dl.doubtnut.com/l/_yI0qSoe75BYF
https://dl.doubtnut.com/l/_3hK56qcePAeS
https://dl.doubtnut.com/l/_A1yvxe8IzTf7
https://dl.doubtnut.com/l/_IvFCz94WWQjO
https://dl.doubtnut.com/l/_DzTkiiEhchBF

7. Write the steps in naming a base.

° Watch Video Solution

8. F6304 + 4H2 — 3Fe + 4H20
2Na + Cly — 2NaCl. Indentify the oxidizing agent in the given

reactions.

° Watch Video Solution

9. Photolysis comes under which type of chemical reaction? Explain it with

an example.

° Watch Video Solution

10. Classify the following equations into combination, displacement,
decomposition and double displacement.

(i) NH,Cl — NH3 + HCl


https://dl.doubtnut.com/l/_DzTkiiEhchBF
https://dl.doubtnut.com/l/_pBBuSqtePzK7
https://dl.doubtnut.com/l/_eAofsVUMv4C1
https://dl.doubtnut.com/l/_veOJZKwbbVHj

(i) 2NO + Oy — 2NO,

(iii) ZnCO5 — Zn0O + CO,

(iv) Ag2 SOy + 2FeSO, — Ag + Fey(S04),
(v) 2NH; — N, + 3H,

(vi) AgNOs + HCl — AgCl + NaNOs

(vii) 2502 + 02 — 2803

° Watch Video Solution

11. Write the characteristics of a chemical reaction.

° Watch Video Solution

12. Classify the following into physical and chemical changes.

freezing of water

° Watch Video Solution



https://dl.doubtnut.com/l/_veOJZKwbbVHj
https://dl.doubtnut.com/l/_X3JX2w604WUT
https://dl.doubtnut.com/l/_Vs8I4ujXYGpT

13. Classify the following into physical and chemical changes.

fermentation of alcohol

° Watch Video Solution

14. Classify the following into physical and chemical changes.

burning of coal

° Watch Video Solution

15. Classify the following into physical and chemical changes.

breaking of glass

° Watch Video Solution

16. Classify the following into physical and chemical changes.

glowing of an electric bulb

| e


https://dl.doubtnut.com/l/_rBw4VmXXqc0o
https://dl.doubtnut.com/l/_IE37cqL9TKym
https://dl.doubtnut.com/l/_JHvUAhySCjMF
https://dl.doubtnut.com/l/_rp4UInxg7DFJ

| & Watch Video Solution I

17. Why do we need to use formulae?

o Watch Video Solution

18. Write the steps in naming oxyacids with greater number of oxygen

atoms

o Watch Video Solution

19. Write the steps in naming oxyacids with less number of oxygen atoms.

o Watch Video Solution

20. Explain the law of definite proportions with an example

o Watch Video Solution



https://dl.doubtnut.com/l/_rp4UInxg7DFJ
https://dl.doubtnut.com/l/_tNadhzhx1tUM
https://dl.doubtnut.com/l/_lRY3DFm5d7Fy
https://dl.doubtnut.com/l/_yfUj8u6mJZCi
https://dl.doubtnut.com/l/_3t6jNuprXB7g

21. Give the differences between oxidation and reduction in terms of

oxygen, hydrogen, electropositive element and electronegative element.

° Watch Video Solution

22. What is a decomposition reaction? Explain different decomposition

reactions with equations.

° Watch Video Solution

23. What is a chemical combination reaction? Explain the different types

of combination reactions.

° Watch Video Solution

24. State the law of multiple proportion with example.

| o WMl L\ dana C Al iklmn


https://dl.doubtnut.com/l/_3t6jNuprXB7g
https://dl.doubtnut.com/l/_4A7gCSjdRc3E
https://dl.doubtnut.com/l/_OM40bInmurCi
https://dl.doubtnut.com/l/_iRCuc2fOBfDl
https://dl.doubtnut.com/l/_Up79q157fm86
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Concept Application Level 1 State Whether The Following Statements Are

True Or False

1. Formula for potassium biphosphate is K HPO,.

° Watch Video Solution

2. The compounds H,O and DO follows Law of multiple proportions.

° Watch Video Solution

3. A, X is comprised of two divalent negative radicals and one

monovalent positive radical.

° Watch Video Solution



https://dl.doubtnut.com/l/_Up79q157fm86
https://dl.doubtnut.com/l/_7WWWx4eciAbp
https://dl.doubtnut.com/l/_CDnp2tdOXDbx
https://dl.doubtnut.com/l/_Tb26NpWUSK7z

4. Formation of sodiurn nitrite and oxygen by thermal decornposition of

sodiurn nitrate involves only chemical change.

o Watch Video Solution

5.The reaction C' + Oy — CO, follows the law of conservation of mass.

o Watch Video Solution

6. Valency of sulphur in SO, is 2.

o Watch Video Solution

7. In exothermic reactions, the energy of products is more than the

energy of reactants.

o Watch Video Solution



https://dl.doubtnut.com/l/_ndVWA1KrXvn7
https://dl.doubtnut.com/l/_7iWerBa71Mq4
https://dl.doubtnut.com/l/_VVAeNWdPbMe2
https://dl.doubtnut.com/l/_dElcEk9KoN97

Concept Application Level 1Fill In The Blanks

1. The valencies of sulphur in hydrogen sulphide and sulphur dioxide

are and , respectively.

° Watch Video Solution

2. When 58 g of Mg(OH), reacts with 98 g of H5S0,, it gives 36 g of

H50 and of MgS0,.

° Watch Video Solution

3. If the molecular weight of a compound NaxSOy is 142, then the

values of X and Y are, respectively, and

° Watch Video Solution



https://dl.doubtnut.com/l/_LD4eJuqmBLyT
https://dl.doubtnut.com/l/_RY69pbbjnVhN
https://dl.doubtnut.com/l/_s7UDP5oaUdUd

4.In Sn + HNO3 — Sn(NOj3), + H,O + NH;NOj , the valencies of

5. In binary compounds, the suffix is added to the second

element.

o Watch Video Solution

6. The symbol of the element is F.

o Watch Video Solution

7. The reverse reaction of neutralization is

o Watch Video Solution



https://dl.doubtnut.com/l/_iqs1jnzOJPCk
https://dl.doubtnut.com/l/_XXBV01VbRCc5
https://dl.doubtnut.com/l/_0Tk1ioa7i7FX
https://dl.doubtnut.com/l/_TcE8gdII9Udi

Concept Application Level 1 Match The Entries Given In Column A With

Appropriate Ones In Column B

1. Match the entries given in Column A with appropriate ones in Column

B.
fl Column A Column B
A. 2H () a. 9 Nitrogen atoms
B. 3CO ( ) b. 9 Sodium atoms
C. 4 H,O () ¢ 5 Hydrated copper sulphate
molecules
D. 2H, () d. 4 Water molecules
E. 9Na () e 3 Cobalt atoms
E 8CI () £ 2 Hydrogen atoms
G. 9N () g 3 Carbon monoxide
molecules
H. 9Na*! ( ) h. 2 Hydrogen molecules
I. 3Co ( ) 1. 8 Chloride radicals

J. 5CuSO, 5H,O () j. 9 Sodium ions

° Watch Video Solution

Concept Application Level 1 Select The Correct Alternative

1. Which of the following is not a physical change?



https://dl.doubtnut.com/l/_s8iItPeYu87K
https://dl.doubtnut.com/l/_vLUnXaD3uBEC

A. dissolution of oxygen in water

B. dissolution of carbon dioxide in water

C. dissolution of alcohol in water

D. dissolution of salt in water

Answer: B

o Watch Video Solution

2. Which of the following double displacement reactions is correct?

A.AB+CD — AC+BD

B.AB+CD — AD+BC

C.AB+CD — CA+BD

D.AB+CD — AD+CB

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_vLUnXaD3uBEC
https://dl.doubtnut.com/l/_pN22Z8GPL2xt

3. The formula of th ephosphate of an element R is RPQy, then the

formulae of its hydroxide and sulphide respectively are are

A R(OH)3 and RgSz
B. R(OH)2 and RQS3
C. R(OH)2 and R3Sz

D. R(OH)3 and RQS3

Answer: C

° Watch Video Solution

4.The molecular weight of a compound which contains a total number of

five radicals is 160, then it is

A Ca3P2

B. F6203


https://dl.doubtnut.com/l/_pN22Z8GPL2xt
https://dl.doubtnut.com/l/_6lhjTM4cGnSQ
https://dl.doubtnut.com/l/_9HJOnaHaivCz

C. Al,O4

D. M93N2

Answer: B

° Watch Video Solution

5. Removal of CO; and HyO from atmospheric air using KOH and

anhydrous CaCl, is an example of and changes repectively.

A. chemical, chemical

B. physical, physical

C. chemical, physical

D. physical, chemical

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_9HJOnaHaivCz
https://dl.doubtnut.com/l/_iuaGdQpHST4H
https://dl.doubtnut.com/l/_ABPV0a4JEivm

6. Which of the following reactions is a synthesis reaction?

A.When steam is passed over red hot coke, a mixture of carbon

monoxide and hydrogen is formed.

B. Sodium reacts with water to form sodium hydroxide and hydrogen.

C. When the milk of lime (calcium hydroxide) is added to hot sodium

carbonate solution, sodium hydroxide is obtained and calcium

carbonate separates out as mud.

D. Stannic chloride is prepared by passing chlorine into molten tin.

Answer: C

o View Text Solution

7. Pb(N03)2 + F82(SO4)3 — FG(N03)3 + PbSO4
Coefficients of lead sulphate and ferric nitrate in the balanced equation

of the above reaction are


https://dl.doubtnut.com/l/_ABPV0a4JEivm
https://dl.doubtnut.com/l/_RLKM03YHAPpj

A 3,4

B.3,3

C.3,2

D.2,3

Answer: C

o Watch Video Solution

8. The names of the salts formed by the reaction of

(i) Caand HNO;

Ca and Hy505 are

A. (i) calcium nitrate (ii) calcium sulphate

B. (i) calcium nitrite (ii) calcium sulphite

C. (i) calcium nitrate (ii) calcium sulphite

D. (i) calcium nitrite (ii) calcium sulphate


https://dl.doubtnut.com/l/_RLKM03YHAPpj
https://dl.doubtnut.com/l/_U7IMWUGoL4Pe

Answer: C

o Watch Video Solution

9. A, B and C are the elements such that A on reaction with air produces a

dazzling white flame, B is used in rubber industry for hardening and acts

as a conductor with rise in temperature. Then A, B and C are

A. metals

B. metal, and non-metal, respectively

C. non-metal, metal and metalloid, respectively

D. metal, non-metal and metalloid, respectively

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_U7IMWUGoL4Pe
https://dl.doubtnut.com/l/_7nKdXlnvlfK9

10. In the preparation of H,S0, the catalyst and the

respectively, are

A. platinum, molybdenum

B. iron, arsenic oxide

C. platinum, arsenic oxide

D. iron, molybdenum

Answer: C

inhibitor,

o Watch Video Solution

1. Fe;sO3 + 3C — 2Fe + 3CO, in this reaction

A. Fe undergoes oxidation and C undergoes reduction

B. Fe undergoes reduction and C undergoes oxidation

C. both Fe and C undergo reduction

D. both Fe and C undergo oxidation


https://dl.doubtnut.com/l/_gvOMWxRWvkHY
https://dl.doubtnut.com/l/_YoZ79GvKGfMT

Answer: B

° Watch Video Solution

12. Arrange the elements Zn, Sn, Ca and Al in the increasing order of their

reactivity for replacing Cu from CuSO, solution:

A.Zn > Sn > Ca > Al

B.Ca > Al > Zn > Sn

C.Ca > Al > Sn > Zn

D.Ca > Sn > Zn > Al

Answer: B

° Watch Video Solution

13. The valency of sulphate radical is equal to the valency of


https://dl.doubtnut.com/l/_YoZ79GvKGfMT
https://dl.doubtnut.com/l/_RSzoHO4irYve
https://dl.doubtnut.com/l/_STaFHfDj9cQ0

A. phosphate radical

B. hydrogen phosphate radical

C.dihydrogen phosphate radical

D. phosphide radical

Answer: B

o Watch Video Solution

14. The ratio of oxygen atoms present in one molecule of cupric nitrite

and ferric sulphite is

A4:9

B.2:3

C.1:2

D.1:3

Answer: A



https://dl.doubtnut.com/l/_STaFHfDj9cQ0
https://dl.doubtnut.com/l/_JLlCEx6vop4Y

| o Watch Video Solution

15. Which of the following statements is false?

A. A catalyst is highly specific.

B. The percentage of yield of products can be influenced by a catalyst.

C. All catalysts have a large surface area.

D. Composition of a catalyst changes during the reaction.

Answer: B

o Watch Video Solution

16. Which one of the following is the salt of a binary acid?

A. calcium sulphate

B. magnesium bromide

C.zinc phosphate


https://dl.doubtnut.com/l/_JLlCEx6vop4Y
https://dl.doubtnut.com/l/_IIlfzZcMzlM2
https://dl.doubtnut.com/l/_dvh1uUBgY8GO

D. sodium carbonate

Answer: B

° Watch Video Solution

17. Which of the following is a salt of 'ous’ acid?

A. NCL2:SO4
B. NaNO;
C. NCI,CZO2

D. NaClOy,

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_dvh1uUBgY8GO
https://dl.doubtnut.com/l/_VHT0jrRvshwy

18. Arrange the following compounds in the order of valency of a positive
radical.
(i) A(H,PO,),
(ii) By (iii) C(S0y),
A. (i) > (i) > (i)
B. (i) > (i) > (i)
C.(i) > (i) > (i)

D. (i) > (i) > (iii)

Answer: A

o Watch Video Solution

19. The name of a substance is given to a student. He was asked to write
its formula. What is the systematic method to be followed to derive the
formula? Arrange the given statements in a proper sequence to obtain

the formula.


https://dl.doubtnut.com/l/_UR2WqCW862rw
https://dl.doubtnut.com/l/_hK7QQsDa91FX

(1) Symbol of positive ion or radical should be placed to the left-hand side
and symbol of negative ion should be placed to the right-hand side.

(2) Place the valency with charge of respective radicals on the top right
hand corner of their symbols.

(3) Write the symbols of the respective ions or radicals present in the
given compound.

(4) Criss-cross the valency on the lower right hand side of ions/radicals.
(5) A radical consisting of more than one element has to be enclosed
within the brackets if the respective number attained in criss-cross is
more than one.

(6) No space should be left in between oppositely charged ions while

writing the formula.

A.312456

B.436251

C.413246

D.564213

Answer:



https://dl.doubtnut.com/l/_hK7QQsDa91FX

l o Watch Video Solution

20. The different samples of CO, were found to contain carbon and

oxygen in the same ratio of their mass. This illustrates

A. law of conservation of mass

B. law of definite proportions

C. law of multiple proportions

D. law of reciprocal proportions

Answer:

o Watch Video Solution

21. When the reaction, Pb(NOs), — PbO + NO;, + O, is balanced, the
coefficients of Pb(NOs),, PbO and NOy are _____, and

respectively.


https://dl.doubtnut.com/l/_hK7QQsDa91FX
https://dl.doubtnut.com/l/_gG9oYWUNNt8L
https://dl.doubtnut.com/l/_DwfO7RHOEc9y

A.2,2and 2

B.2,4 and 4

C.4,2and 4

D.2,2and 4

Answer:

o Watch Video Solution

22. The reaction Hg+ S — HgS represents a - as well as a

reaction.

A. combination, synthesis

B. combination, analysis

C. decomposition, analysis

D. decomposition, synthesis

Answer:



https://dl.doubtnut.com/l/_DwfO7RHOEc9y
https://dl.doubtnut.com/l/_SkJZlAw6rF3s

| o Watch Video Solution

23.The reaction NaOH + HCl — NaCl + H,0

A. follows law of conservation of mass

B. is a neutralization reaction

C.is a precipitation reaction

D. Both (a) and (b)

Answer:

° Watch Video Solution

24.The formation of sulphur trioxide from sulphur dioxide and oxygen is

an reaction.

A. endothermic as well as redox

B. endothermic as well as precipitation


https://dl.doubtnut.com/l/_SkJZlAw6rF3s
https://dl.doubtnut.com/l/_8X0s6nNOaUhs
https://dl.doubtnut.com/l/_zaKd8XsIDUgl

C. exothermic as well as redox

D. exothermic as well as precipitation

Answer:

° Watch Video Solution

25.The valency of nitride ion is same as the valency of ion

A. ferric

B. plumbic

C.zinc

D. calcium

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_zaKd8XsIDUgl
https://dl.doubtnut.com/l/_9DcU3g5l7GaT

26. Removal of COy and H5O from atmospheric air using KOH and

anhydrous CaCl, is an example of and changes repectively.

A. chemical, chemical

B. physical, physical

C. chemical, physical

D. physical, chemical

Answer:

o Watch Video Solution

27. Reaction between barium chloride and aluminium sulphate is an

example of

A. neutralization reaction

B. displacement reaction

C. precipitation reaction


https://dl.doubtnut.com/l/_i1lZiMmAJHKl
https://dl.doubtnut.com/l/_NRm74rfl73Vq

D. combination reaction

Answer:

o Watch Video Solution

28. Which among the following salts produces maximum number of metal
ions per molecule when dissolved in a suitable solvent?

A. aluminium phosphate, AIPO,

B. magnesium phosphate, Mgs(PO,),

C.sodium biphosphate, Nas H PO,

D. aluminium dihydrogen phosphate, Al( Hy PO,)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_NRm74rfl73Vq
https://dl.doubtnut.com/l/_n9YhlHg2TWld

29. A series of chemical reactions were carried out in a laboratory in the
following way. At first zinc granules reacted with H, SO, to form H, gas.
Then hydrogen gas reacted with chlorine gas under diffused sunlight to
form hydrogen chloride gas. Hydrogen chloride gas produced in this
process was dissolved in water to form hydrochloric acid. Hydrochloric
acid reacted with sodium hydroxide to form sodium chloride and water.
Sodium chloride, thus, produced is first melted and then electricity is
passed through it. Due to the passage of electricity through sodium
chloride, sodium metal and chlorine gas are obtained. Rahul was asked to
arrange the above reactions in the order of combination, decomposition,
displacement and double decomposition.

His answer is given below.

(1) formation of H, gas

(2) formation of hydrogen chloride gas

(3) formation of sodium and chlorine from sodium chloride

(4) formation of sodium chloride Which among the following orders

given below is correct, according to you?

A3421


https://dl.doubtnut.com/l/_y0uUJqKTX1pr

B.2314

C.1234

D.2341

Answer:

o View Text Solution

30. Arrange the following reactions in the given order, i.e.,, compound-
element combination, compound-compound combination and element-
element combination.

(1) Coke is burnt in an inadequate supply of air.

(2) The product formed in the reaction (1) is again burnt in the presence
of oxygen.

(3) The product formed in the reaction (2) is treated with water.

A 132

B.231


https://dl.doubtnut.com/l/_y0uUJqKTX1pr
https://dl.doubtnut.com/l/_qr7ekRSDIpnj

213

D.312

Answer:

° Watch Video Solution

Concept Application Level 2

1. An oxide X of carbon on treatment with oxygen gives Y which turns lime

water milky and blue litmus to red. Predict the valencies of carbon in X

and Y and what is the composition of milky precipitate formed?

° Watch Video Solution

2. One molecule of a binary acid contains two hydrogen atoms and a
negative radical X. What will be the formula of the salts when it reacts

with bases, like, M(OH), M(OH), and M(OH),? Explain with reasons.



https://dl.doubtnut.com/l/_qr7ekRSDIpnj
https://dl.doubtnut.com/l/_vnpmkK8UdwdL
https://dl.doubtnut.com/l/_8U7jlNXEH4sR

| ° Watch Video Solution

3. The formula of hydrogen phosphate of a metal M is M HPQ,. Give the
formula of its

(a) chloride

(b) bicarbonate

(c) sulphite

° Watch Video Solution

4. Write the balanced chemical equation for the following:
Potassium bromide on treatment with manganese dioxide and sulphuric

acid gives manganese and potassium sulphates, bromine and water.

° Watch Video Solution

5. Write the balanced chemical equation for the following:

In the preparation of phosphate fertilisers, calcium phosphate in


https://dl.doubtnut.com/l/_8U7jlNXEH4sR
https://dl.doubtnut.com/l/_SjOMqpPjSnuk
https://dl.doubtnut.com/l/_kKtlCHBhrFq5
https://dl.doubtnut.com/l/_FlRdGdX8icye

phosphate rock is converted into phosphoric acid and calcium sulphate.

o Watch Video Solution

6. Write the balanced chemical equation for the following:
Sodium nitrite is produced by the reaction of the oxides of nitrogen in

which nitrogen shows valency 2 and 4 in a solution of sodium carbonate.

o Watch Video Solution

7. Nitrogen and oxygen react to produce nitric oxide. What is the weight

of oxygen required to convert 4.9 g of nitrogen to nitric oxide ?

o Watch Video Solution

8. The salt of an oxyacid of metal M contains two sulphur and six oxygen

atoms. What will be the formula of the base formed by the metal and

why?



https://dl.doubtnut.com/l/_FlRdGdX8icye
https://dl.doubtnut.com/l/_lsmpckNXV9bZ
https://dl.doubtnut.com/l/_WFQca1EOw5x1
https://dl.doubtnut.com/l/_fWIs8aSoakRv

° View Text Solution

9. The molecular weight of a salt of oxyacid of chlorine of a divalent metal
which contains more number of oxygen atoms than its corresponding 'ic
acid is 239. What will be the molecular weights of its (i) phosphate, (ii)

iodide and (iii) bisulphate?

° View Text Solution

10. Given below are three chemical equations. Study the equations and
identify the elements that show variable valency? Give reasons in support
of your answer. ("M'and 'N' stand for different metals.)

(i) MS + ZnSOy — MSO4 + ZnS

(ii) 3MCly + Ny (S0O4)3 — 3M SO, + 2NCl;

(iii) NS + H, SOy, — NSO, + Hy,S

° View Text Solution



https://dl.doubtnut.com/l/_fWIs8aSoakRv
https://dl.doubtnut.com/l/_MpsBZRownn8p
https://dl.doubtnut.com/l/_CRTlv1ix2YHa

11. Blue coloured CuSOy is taken in two test tubes A and B. Zinc granules
are added to test tube A and small iron piecces are added to test tube B.

Explain the observations in each acse by giving reasons.

° Watch Video Solution

12. How do you account for the following?

Nitric acid is colourless but on long standing it turns yellow.

° View Text Solution

13. How do you account for the following?
Hydrochloric acid can be concentrated by conc. Hy,SO, but not by

phosphorous pentoxide (or) quick lime.

° Watch Video Solution



https://dl.doubtnut.com/l/_CC7RdLmkeRrv
https://dl.doubtnut.com/l/_8cXfSKS6r5wI
https://dl.doubtnut.com/l/_yArFA8lvGy59

14. In the welding of railway tracks, a proper proportion of aluminium
powder and iron (iii) oxide are made to react with each other at high
temperature. Explain the type of reaction involved and also identify the

reducing and the oxidizing agents.

° Watch Video Solution

15. The valency of a metal is 2 and its atomic weight is 24. What will be the
molecular weight of its

(a) sulphite (b) chloride (c) chloride?

° Watch Video Solution

16. While balancing a chemical equation, only the coefficients of the

formulae are changed, but the subscripts are not changed. Give reasons.

° Watch Video Solution



https://dl.doubtnut.com/l/_ypYIIoYgWRDf
https://dl.doubtnut.com/l/_TlIZUNM4F8eb
https://dl.doubtnut.com/l/_F23v07CuIVZU
https://dl.doubtnut.com/l/_XFqRlg9RrfoD

17. The chemical X is a hydroxide of a divalent metal. On treating this
hydroxide with CO,, a milky white precipitate of Y is formed. The
precipitate turns to colourless solution by the excess passage of CO,.
This colourless solution again gives milky white precipitate Y on heating.

Identify X and Y and also give necessary equations.

o Watch Video Solution

18. A hydrocarbon on complete combustion produces 176 g of carbon
dioxide and 90 g of water. What will x the formula of hydrocarbon be?

Also give balanced chemical equation of combustion of hydrocarbon

o View Text Solution

19. Heating and subsequent cooling of certain substances are given
below. Classify them into either physical or chemical change.
(a) lead nitrate

(b) bluish green copper carbonate


https://dl.doubtnut.com/l/_XFqRlg9RrfoD
https://dl.doubtnut.com/l/_RTqr40Wr0ILU
https://dl.doubtnut.com/l/_EjBmhjNvbQR6

(c) yellow coloured lead oxide

(d) White powdered zinc oxide

° View Text Solution

20. Arrange the following radicals in the increasing order of total number
of constituent atoms present in the respective radicals.
(@) hydroxide (b) nitride (c) chromate (d) sulphite (e ) dihydrogen

phosphate

° Watch Video Solution

21. Two beakers A and B contain water. Glucose is added to beaker A and
ammonia gas is passed through beaker B. What types of changes

(physical or chemical) take place in the beakers? Justify.

° Watch Video Solution



https://dl.doubtnut.com/l/_EjBmhjNvbQR6
https://dl.doubtnut.com/l/_D8uixCDfH0B5
https://dl.doubtnut.com/l/_Fmbw3Lh7ocy7

22. Oxide of a metal on treatment with water produces a hissing sound
and energy. The product (Y) formed on treatment with hydrochloric acid
gives a solid X. Identify the oxide, the product (Y) and X. Also write all the
balanced chemical equations and calculate molecular masses of the

oxide, the product Y and X

o Watch Video Solution

23. A non-metal X forms two oxides, A and B. The ratio of weight of the
element X to the weight of oxygen in A and B is 7:20 and 7: 16,

respectively. If the molecular mass of the oxide, A is 108, identify A and B.

o View Text Solution

24. Electrolysis of molten sodium chloride produces sodium and chlorine.

Is this reaction a redox reaction? Give reasons in support of your answer.

o View Text Solution



https://dl.doubtnut.com/l/_FCaXhgqzAZYU
https://dl.doubtnut.com/l/_wUsuvQiG9oWA
https://dl.doubtnut.com/l/_AIxwSMGE2Dme

25. Express the following chemical changes in the form of chemical
equations and identify what types of chemical reactions they are.
A copper coin is placed in a solution of corrosive sublimate, mercuric

chloride. The products obtained are cupric chloride and mercury.

o Watch Video Solution

26. Express the following chemical changes in the form of chemical
equations and identify what types of chemical reactions they are.

A piece of (a) sulphur and (b) charcoal burns vigorously when dropped in
molten potassium nitrate, because potassium nitrate decomposes to
form potassium nitrite and oxygen and this oxygen helps to burn
charcoal and sulphur giving out carbon dioxide and sulphur dioxide,

respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_m0JrMJRMYGkw
https://dl.doubtnut.com/l/_a9HHDEKVtDjY

27. Express the following chemical changes in the form of chemical
equations and identify what types of chemical reactions they are.

Aqueous ammonium hydroxide solution is made to react with aqueous
copper sulphate solution and a bluish white precipitate of cupric

hydroxide and ammonium sulphate are formed.

° Watch Video Solution

28. Decomposition reactions are always initiated with the supply of

energy. Give appropriate reasons.

° Watch Video Solution

29. Generally, burning or combustion reactions are exothermic. Justify.

° Watch Video Solution



https://dl.doubtnut.com/l/_P8vvqHcp3DRH
https://dl.doubtnut.com/l/_gfDz0Bph3VVm
https://dl.doubtnut.com/l/_8chjmQtPTfGK

30. In the welding of railway tracks, a proper proportion of aluminium
powder and iron (iii) oxide are made to react with each other at high
temperature. Explain the type of reaction involved and also identify the

reducing and the oxidizing agents.

° Watch Video Solution

Concept Application Level 3

1. What is the role of ultraviolet rays in the purification of water in

modern water purifiers?

° View Text Solution

2. Under which condition does Bunsen burner produce a luminous flame

and a non-luminous flame? Give reasons in support of your answer.

° View Text Solution



https://dl.doubtnut.com/l/_LIx3chvtpCzm
https://dl.doubtnut.com/l/_z7gwGlvMrWkr
https://dl.doubtnut.com/l/_CEkFIvMh81a1

3. Anhydride of an acid X contains 2 phosphorous atoms and 5 oxygen
atoms. If this acid X is made to react with bases, like, sodium hydroxide,
calcium hydroxide and aluminium hydroxide, what will be the formulae of

the corresponding normal salts formed?

o View Text Solution

4. A compound X of silver on treatment with barium chloride gives the
respective products Y and Z. X on treatment with sodium hydroxide gives
A and B where A can also be obtained when silver is attacked by ozone
and B is the salt of an oxyacid of nitrogen which ends with the suffix 'ate.

Identify and give the chemical formulae of the substances X, Y, Z, A and B.

o View Text Solution

5. The salt of hypohalous acid is prepared from the respective

components, namely, halogen and the corresponding metallic hydroxide.


https://dl.doubtnut.com/l/_CEkFIvMh81a1
https://dl.doubtnut.com/l/_98Q9ylRPbMMr
https://dl.doubtnut.com/l/_aNK9MpEqdQq5
https://dl.doubtnut.com/l/_p4ICtQMahVKX

The metal is the one which possesses the number of electrons in the
ratio of 1: 4:4:1 which corresponds to, namely, K, L, M and N shells,
respectively, and the halogen is a greenish-yellow colour gas which can
displace bromine from magnesium bromide. Identify the salt and the

respective components.

o View Text Solution

6. The molecular masses of sulphate and hydroxide of a metal M are 142

and 40 respectively. Calculate atomic mass and valency of the metal.

o Watch Video Solution

7. What are the changes observed when moist sugar is treated with

anhydrous calcium chloride and concentrated Hy, SO, respectively?

o View Text Solution



https://dl.doubtnut.com/l/_p4ICtQMahVKX
https://dl.doubtnut.com/l/_3hEjFwD59L6A
https://dl.doubtnut.com/l/_ewvdmebmxLrT

8. Identify the type of chemical change that silver chloride undergoes in

photo grey lenses.

° Watch Video Solution

9. Blue-coloured gas X having a characteristic fishy odour, can restore the
colour of lead paintings. This gas can also be used for sterilizing water.

Identify the gas X. Mention the type of reaction(s) involved.

° View Text Solution

10. Fluorine is very reactive and attacks all metals but still a copper vessel

is used in the preparation of fluorine gas. Why?

° Watch Video Solution



https://dl.doubtnut.com/l/_Uhvtns4d3DjX
https://dl.doubtnut.com/l/_zK74gBfjJYWB
https://dl.doubtnut.com/l/_IDFJBL3pfnyy

